STANDARD EIGHT MID TERM ONE EXAM 2018
MATHEMATICS

Which of the following numbers is onc
million two hundred and two thousand twio
hundred and two?

Al 1 200 2002

B. 1202 200

C. 1202202

> 1202002
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What is 289879 Lo the nearest tenth?
AL 28088

3. 2899

. 28900

. 2900

What is the square root of
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What is the total value of digit 7 in the
number 287065427

AL Ten thousands

Iy, T 000

C. Seventy thousand

2. Seven hundred thousand

6.

The table below shows the number of
miilk delivered 1o Myala dairy plant in the
first six month of the year 2006,

mMonth | Jan_[Feh Mlar WAapr IMay Dune
mi. off 435082135 2425 FT750 F2 30 [E9E0

Tilk i

In which two consecutive month was the
armount of milk delivend highest.

A May and Junc

i Januvary and February

L April and May

I January and hMay

The triangle ABC below is drawn
accurately

A

What is the sive ol angle 13CA7
AL Tal

i 46"

C. s8¢

> 104"

What is the highest conmmuon foctor of
120, 150 and | 80?2

AL 1 BODO

13 30

o3 a0

1. 60

Aorectangular waler tank measures |.2m
by Blcm by 0.5m. Whal is its capacity in
litres?

Ao O48S

13 4.8f

C. 48

. 4 8007




10. Inthe fipure below line ARis parallc] 1o
line CD. Linc EF is atransversal across
the two parallel lines.

(L1

N

Which of the following statement is nuot
correct?

A. Angle g = Anglej= 1267

B. Anglec+Angleh=180°

C. Anglej+ Angle h-Angle f=198"
. Angleh+Angle [+ Anglei=1 800

11. What is the next number in the pattern
3.5.813 "
A 24
B 19
C. 20
D 23

12. Jasmin had 25 - 500 shillings notes and
13 - 200 shilling notes, He decided to
change all the money into 50 shillings
notes. How many notes did she get?
Al¥s 100
B. 250
C. 52
D, 302

13. A sales girls carns a basic salary of
shs.10 000 plus 5% commission on all
the sales she make. Ina month she sold-
goods worth sh.200 000. How mu ch,
commission did she get that month?

A. shs. 10000
B. shs.20000
C. shs.30000
. shs. 15000

Ty —_—

14. A scction of a road 350m long was
planted with Mlowers at an interval of Sm.
How many flowers werc planted?
A TO
13 71
C. 69
3. 142

15. Oyalo bought three thermos Mask at &
total of shs. 1080, He later sold cach of
{hem at shs.400, What was his

percentage profit?
A, 4% B O113%
C. 37+4% [ 20%

16. The figure below shows a parallelogram
ABRCD

25cm

What is the area of the parallelogram
abowve?

A, 100cm?

B. 500cm?

C. §00cm’

. 750cm?

17. Karaniread -_],f- of a story book on

Monday, % of it on Tuesday and the

remainder on Wednesday. 1f the story

hook had 280 pages, how many pages

did he read on Tuesday and Wednesday

together?
LA 210

B. 98

C. 70

D 112




19.

20.

21.

mnﬂlm:dﬁhqﬁi!tlyﬂm If
ﬂu:agﬁul'ﬁwufthl:misll 14,9, 15
and Iﬂ,huwdldismesimhhuy?

A 11 ycars

B. 13 years

C. 12 years

D. 61 years

Construct a triangle JKL such that line
JK = 6.5cm KL=Tgmand LM=8cm.
Draw a circle touching points JKL. .
What is the length of the diameter?

A. 4+2cm

B. 4cm

C. Zem

D, Edcm

Ihe table below shows arrival and
departure times for buses of a certain
youte from wwn A 10 Kwn E

TOWN JARRIVAL DEPARTURE
A 8:30am
F -Mam 9:35am
" i 1-40am 12:10 noon
F‘l. Li-45am 3:00pm
- 1-45pm 5:00pm

1low long dues it take the bus o travel
from town C to lown E.

A 4hrs 33min

i%. 4hrs 50min

C. 4hrs  A5Smin

[». Shrs 05min

«en and Kclvin shared some money in
the ratio 3-4. Kelvin got shs.3 600 more
than Ken. bow much money in total were
they sharing?

A shs 10800

B. shs.3 600

C. shs. 14400

D. shs.25200

23.

24.

25.

bank that charged simple intcrest at the
rate of 12% per unnum. How much
money did she pay back after 2 ycars?
A. shs.28 800

B. shs. 14 400

C. shs. 148 800

D. shs. 134 400

In the figure below ABCD is a rhombus.
Line ABF and DEF are straight limes.
Angle BFE=28%and angle BEF - 78°.

D .

What is the size of angle ADE?
A, T78°
B, 106°
C. 747
D. 152°

What is the valuc of

2x -
%Y 4y

A closed cylindrical tin has a radius of

| 4em and a height of 20cm. What is the
area of the curved surface?

A. 1760cm?

B. 12320cm’

C. 1232cm?

D. 2376;m’




26.

27.

28.

the net drawn below have when folded
into a solid?

wilg el
T
o0 & fa O T
(LN N

Regina earns a lotal of shs. 16 250 after
working for 25 days. How much more
would she carn ifshe works for 32 days?
A Bhs 20 800

B. Shs.4 550

C. Shs.a50

3, Shs. 14 300

The pie chart below shows how Omunga
spends his monthly salary of shs.36 0040.

School fees

How much more does he spend on
school fees than on entertainment?
A. Shs.2 400

B. Shs.12 000

C. Shs.9 600

D. Shs.7 200

1 2

30.

31.

32.

Hlipau left o Sovthe moaeket ot S W
and took 2hrs 40 min. He stayed at the
market for 1h 20min. The ime taken to
travel to the market is twice the ime
takén to travel back home. At what time
did he get home?
..'L 2.50pm B. 12.10pm

C. 1.30pm D 2 Jﬂpm

In the fi figure below line AB is paralle! o
line CD. Line EF a:m:l OH are- franswversal

F

.,/“”1\

E . G

Which of the following statement is

comect?

A. Angle j and h are co-interior angles.
. Angle n and b are vertically

i3
opposite angles,

C. Angle k and ¢ are corresponding
.

angles

. Angle m and o one co-interior

angles

Which of the following is the simplest
form of the expression,

Z(6x +12y)—- L (3x —s6y)

A. Sx+ 10y B. 3x+ 06y

C. 5x -+ 6y D 3x+ 10y

The figure below shows a trapezium
23cm

2Tcm

What is ils arca?

A. 750cm?® B. 375cm?

C. 405cm* D 345cm?
STDE MATHS 001 2017




33

On the triangle POQR drawn below drop

a perpendicular from i‘mil‘]t K to meet line

PO at X,

[

37.

34,

What is the length of line PX?
Al ddm B. 6.5m
C. 3.8Bm I, Tm

The number of elephant at Tsavo national
park increased by 4 500 1w 18 000,
What was the percentage increase?

A, 25%% B. 20%

C. 40% D. 33le;

Calculate the volume of the cylidrical
container below in m* -

(5o

S

B. 7.ERB48m?
. 788 48m”

A 0. 7ER48Bm*
C. TE.B48m°

A rectangudar plot of land is 840m long. -
by 560m wide. The land is to be fenced
using four strands of wire. What is the
length of the wire required in metres?

AL T400m B.  280dm . .

Co K1200m: - o I S600m. .

39.

.

Four boys contributed money as Tollows.
John (L 16, Tony 0,26, James 036 and
Reagan the rest. 15 he total aoowm
contributed was shs. 2 400, how much
was contributed by Reagsan?

M. shs Rod

15, shs.624

. shs 384

D, shs. 528

Kyalo bought the following items from a
shop

2 -2kg packets of wheat flour at 120 per
packet

Fhg supar (@ vhs £12

14/ kg salt for xhs. 45

3 litres cooking oil @@ shs. 165

J rolls af tissue for sl 20

How much balance did he get if he paid
using 3 - 500 shillings notes?

AL shs 1 206

1. s5hs.294

. shs.234

. shs 1 266

The figure below shows a rhombus
whose diagonals are 1 6em and 30em

What iz the perimeter of the rhombus?
AL 240cem
B. 136cm
C. D6cm
68cm




40.

41.

42,

43.

44.

In a park there are Lions, Cheettah and
[eopard. The number of Chectiah are
twice as many as Lions, The number of
Leopards are a quarter ol Lion. 1T the
mwnher of lion is v, what is the total
nuimber of leopards lion and Cheettah in
Uhe park'?

A 2ty B 10y

C. aly p. 3ty

What 15 the value of X in the cquation

2+ 36 = dx

5
MoS
5 10
L |-
O

The area of a right angled triangle is
J0cm®. The lenpth of the shortest side is
Sem. What is the perimeter of the
trizangle??

AL 3em

BB, Z4¢m

. 13em

. 12em

|

Melunya spent ,;J'I.:lr‘lhli.‘- salary on triinsporl
_-i- ol the remainder on school Tees and
the rest on lood and rents, Flow much

did he spend on Food and rent il his
salary is sh, 10 007

ML shs 8 40

1%, =h=s.3 600

C. shs.2 400

[3, shs 1 5000

The marked price ol a 1% is sh.24 000,
Eoamau paid shs.21 1200 Wt
percentage discount was he given?

AL 22%

B, 18%

C. 20%

0 (2%

45.

46.

47.

’ 49,

Jackline had 100kg of rice which <he
prercked as follfows.

half into 250 packels

are quarfer inte S0y pockers

The remainder into- Tk packets, Tlow
many packet in twial did be get’?

AL 200 B 275

C. 250 B 300

The figure below shows a table mat.

What is the perimeter of the table mat?
Al 2BGem B. 46Xcm
C. [43om . 2RO

A bus lelt Mombasa for Mairobi at
G:45pm on Thursday. The journey ook
Ohr 45min. At what day and time did
the bus got Mairobi?

AL Friday 8:30uam

B. Frday 7:30am

C. Thursday 7:30pm

12, Thursday 8:30pm

I'he marked price of a gencrator is

gl 30 000, The hire purchase price is
120%% oFMhe marked price. Jasmin paid
a deposil of shs. 9 000 and the restin 12
cqual monthly instalments. How much
wis cach instalment?

A, shs. 1 750 I,
. shs.2 500 .,

shs. 1 500
shs.2 250

Theombtsk: mass ol the fiveboys is46ke. .
Foursek: bbls weighs WP 48, 42, and
43, What is the mass ol the fifth boy?

Al 45 2. <40

. 50 . 35




S50. The graph below shows the journey by OUMA from town K to town L.
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What was the average speed in km/hr.

Al 20kmihr
B. 30kmv'hr
C. 15kmv'hr

D. 12km/hr






